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BEAHE | HERHE WERIRE | AERHEE HERHE | IERHE | IFAHE | HEERHE
F2HEE 1BREIIZDE 370M 370M 1BREIIZDE 370 370M 1BEIICDF 550 550/ 4,310M 4,310H
s mE 1BEmIC2E 370 440 | 1BEISOEF  370M 440 | 1H@ISOE  550M 660 4310 | 5170M
FAFEE
EIFEE
EITHEE 1B/EIZ2E 740 740M 1B/EIZ2E 740 740M 1BEMEIZ2E 1,110 1,110 8,630 8,630M
Hosizs 1EfECDFE 740H 880Fq 1B 740H 880Fq 1B 2E 1,110 1 ’330Fq 8,630M 1 0,350Fq
ERE-E
FRY 1E/EIZ2E 11100 1,110 1E/BIZ2Z 11100 1,110 1BfEIZDE 1,660 1,660 12,940M 12,940H
D 1B[EIZ2E 1,110 1,330H 1B[EIZ2E 1,110 1,330H 12D 1,660 1,990 12,940M 15,520
BrREB—IL
SEBE 1B DZE 1,390 1,390M 1ERIZDZE 1,390 1,390M 1BfEIZD2E 2,070 2,070 16,070 16,070
EAHEE 1BfIcD>E 220/ 260 1BfIcD>E 220/ 260 1B5fEICDZE  310M 370M 2,360/ 2,830H
FE5HEE
s
ZTOWMDMEHEIE | 1B5RISDE  220M 220H 1B5RAISDE  220M 220H 1BRII=DE  310M 310M 2,360 2,360
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WERHE | ERHE WERHE | HEERHE WERHE | HEERHE WERFE | REERHEE
r—IL 3,000 3000 LIA 3,000 3000 LIA 4,500M 45001 LIA 9,900 9,900 LIR
= 1500M [ {1,800 =™ 1,500 | 1,800 KA 1,800 | 2 160 KM 3600F | 4320 LA
(1E[|zD%)
ESEEE 1,500 1.800 L™ 1,500 1.800H LA 1,800 21608 U™ 3,600 4320 MU~A
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HIEET= 3,600 3600 LIA 4,500 4500 LIA 5,400 5400 LIA 10,500 10,500 LIR
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WEAHE | AFEERHE | AEIHE | IEEHE | XEMHE | AEEHE | KFRHE | HEREE
BN REE r—JL 1,880 1,880 2,300 2,300 3,450H 3,450 6,910 6,910
FEE 620M 740 830M 990/ 1,040 1,240M 2,090 2,500/
REAREE ~—JL 1,150 1,150 1,460 1,460 1,880 1,880 3,980M 3,980
FEE 620M 740 830M 990/ 1,040 1,240M 2,090 2,500/
FTRAREE r—JL 1,880H 1,880H 2,300H 2,300H 3,450H 3,450 6,910 6,910
THE= 620M 740H 830M 990H 1,040H 1,240 | 2090H 2,500M
FE= 620 7401 830M 990 1,040M 1,240M 2,090 2,500/
HEEE=E 2,820H 2,820H 3,450 3,450 4,190H 4,190 8,060 8,060
TN REE HE = 830M 990 1,040 1,240 1,360 1,630 2,720M 3,260
FE% 620M 740 830M 990/ 1,040 1,240M 2,090 2,500/




